Practice exam 2- answers in bold
1. The sense of taste includes the four basic sensations of:
a) bitter, sweet, cool, sour
b) sweet, sour, hot, bitter
c) sweet, sour, bitter, salty
d) sweet, sour, salty, spicy 
 
2. The Opponent Process theory for color vision suggest that a single neuron is responsible for the detection of two colors. One (e.g., red) occurs when the neuron is _______, and one (e.g., green) occurs when it is ________.
a) yellow; blue 
b) firing; inhibited (resting)
c) in the light; in the dark
d) in the rods; in the cones
e) the figure; the ground
 
3. After being in the swimming pool for 10 minutes the water temperature feels quite comfortable. However, the water felt very cold when you first got in. What physiological phenomenon can account for this effect?
a) sensory assimilation
b) perceptual accommodation
c) sensory adaptation
d) neural excitation
e) physiological arousal
 
4. The JND for weight is;
a) 1%       b) 2%       c) 5%       d) 10%      e) 20%
 
5. Erikson argued that the ability to enter into a loving relationship with others is resolved in what stage?
a) initiative vs. guilt             
b) relationship vs. loneliness      
c) trust vs. mistrust
d) intimacy vs. isolation
 
6. Kohlberg's theory of moral reasoning argues that moral reasoning progresses from 
a) a consideration of rewards and punishments to societal rules to internally held moral principles
b) a consideration of internally held moral principles to societal rules to rewards and punishments
c) a consideration of societal rules to rewards and punishments to internally held moral principles
d) thinking about society to thinking only about personal gains
 
7. Lev Vygotsky's view of cognitive development emphasizes the
a) influence of environment on cognitive development
b) role of maturation in cognitive development
c) role of genetic factors in cognitive development
d) influence of diet on cognitive development
 
8. The cognitive ability that allows you to know that a tall glass does not necessarily hold more liquid than a shorter, wider glass is (according to Piaget) called the;
a) conservation of mass                   
b) maintenance of mass                    
c) liquid equivalence
d) weight by weight
 

9. The lobes located at the back of the head are largely responsible for:
a) visual processing
b) auditory processing
c) sensations of the skin and basic drives such as hunger
d) higher cognitive and motor functioning
    
